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ugd - 1/ PART -1
GBuy: 1) yewars sy alernssens s alar weallssayp. ©(14x1=14)
2) gpysoLw efenr_sows Cois 650 S &8 &I B 6T el ufensrus Cons sl sTApSab.
Note: 1) Answer all the questions.
2) Choose the best answer and write option code with corresponding answer.

1. R={(x, X)) | x gyemgi 13-z eN_& @emmeunen LT sistisen} s16mp 2 meflen ei&s&ONETE
1){2,3,5,7} 2){2,3,5,7 11}
3){4, 9, 25, 49, 121} , 4y{1,4,9, 25, 49, 121.}
The range of the relation R={(x, x?) | x is a prime number less than 13} is
14{2,3,5,7} 2){2, 3,57 11}
3) {4, 9, 25, 49, 121} 4){1, 4,9, 25, 49, 121}
2. {(a 8), (6, b)} syema m swaflé sniy arefied, a HmID b wHiyseTTeus (POHGW
1) (8,6) 2) (8, 8) 3) (6, 8) - 4)(6,8)
If {(a, 8), (6, b)} represents an identity function, then the value of a and b are respectively
1) (8, 6) 2) (8, 8) - 3)(6,8) 4) (6, 6)
3. F=1LF=3vpmbF = F.i + F., ere0s Qar@ésiiuigeo Fo oy ems)
1)3 2)5 3)8 4)11°
Given F,=1, F,=3andF =F  +F ,thenF,is
1)3 2)5 - 3)8 4) 11
4. x+64 UT&SIONS DIHD ST Ll6ieubeuemaupDIsT TenSs sal_L CouetmmBId?
1) 4x2 2) 16x2 3)8x2 4) —8x2
Which of the following should be added to make x*+64 a perfect square _
1) 4 ,2)16x2 3) 8x2 4) —-8x?
5. x+y-3z=-6, -7y+7z=7, 3z=9 eietip Qzn @l Siey
1) x=1, y=2, z=3 2) x=-1, y=2, z=3
3) x=-1, y=-2, z=3 4) x=1, y=-2, z=3
The solution of the system x+y-3z=-6, -7y+7z=7, 3z=9 is
1) x=1, y=2, z=3 2) x=-1, y=2, z=3
3) x=-1, y=-2, z=3 4) x=1, y=-2, z=3
AB _BC
6. DE ~ FD stefled, ABC wpmyb EDF stiQuin g eug Qeun 5emeuwins S|EMDU|LD
1) 4B=ZE 2) £LA=«D 3) «zB=4D 4) LA=/F
. AB _BC -
If in triangles ABC and EDF, pg ~ Fp then they will be similar, when
1) #/B=/E 2) ZA=2D : 3) #B=4D 4) /A=/F
7. AABC-ufev DE || BC. AB=3.60&.15, AC=2.4Q15..8 wpmib AD=2.1Q015.15 stexflev, AE-uSlear Bemd
1) 1.4Q05.8 2) 1.808.18 3) 1.2Q5.8 4) 1.05Q15.8
If in AABC, DE || BC. AB=3.6cm, AC=2.4cm and AD=2.1cm then the length of AE is
1) 1.4cm 2) 1.8cm 3) 1.2cm 4) 1.05cm
8. (2, 1)g Qe U yareflwnas Qanew @wm CrisCan®ast
1) x-y-3=0; 3x-y-7=0 2) x+y=3; 3x+y=7
3) 3x+y=3; x+y=7 4) x+3y-3=0; x-y-7=0
(2, 1) is the point of intersection of two lines -
1) x-y-3=0; 3x-y-7=0 2) x+y=3; 3x+y=7"
3) 3x+y=3; x+y=7 4) x+3y-3=0; X-y-7=0

9.  7x=3y+4=0 eienp CrpiaCan_nn@s Cemgssnaab, o fuysiel aflé Qasogin
CrisGan e sweun®

1) 7x-3y+4=0 2) 3x-7y+4=0

3) 3x+7y=0 4) 7x-3y=0

The equation of a line passing through the origin and perpendicular to the line 7x-3y+4=0'is
1) 7x-3y+4=0 -2) 3x-7y+4=0

3) 3x+7y=0 4) 7x-3y=0
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14.

1
> X2 - . :
5x = sec 0 wpmp y = tan 0 aefle y? -6t1 iy
: : 1

1) 25 2) 35~ 3)5 41

5 o
If 5x = sec 0 and y = tan 6, then y?2 is equal to

: - |

123 2) 5 3) 5 4) 1
[ SI0GS6T o1 2_emLw @@ #10 eorsGanamiseaflen oigliu@dlse B emevsrés LD

Gur g 2_(Heun @b Hevrosden YnULTLLY

1) 4nr? 5. 2) 6nr’e. g 3) 3nrs. 9 4) 81rs. 9

If two solid hemispheres of same base radius r units are joined together along their bases,
then curved surface area of this new solid is "

1) 4nr? sq.units 2) 6nr?sq.units 3) 3nr?sq.units 4) 8nr’sq.units
'8,8;8,8, 8. 8 g Hw grellen eisa

1)0 2)1 3)8 4)3

The range of the data 8, 8, 8, 8§, 8........ 8is

1)0 2) 1 3)8 4) 3.

M LBmSS SO 3eug 2 miiy 4 sresfled ez (W60 5 2 puiLsefles ClLh&seLIev6

1) 4° ) ‘ 2) 4 3) 45 4) @eupley 61 gibleveneD

The 33r term of G.P. is 4. Then the product of the first 5 terms is

1) 4 2) 4* - 3) 4 4) None of these

M wslaremgden, om Csramsden 2. yp DmewOaigureTs &6
a8liLEsSens B swunsnsaTas NNGHD s aefled ob(psGarsmrib

1) QermGsnewnr (W&Ganemwind 2) s1UES (YW&EBST vt LD

3) iFUsSs (P&ECST 6D 4) @@ Fwuss (Y&CaHN ewTLD

If the interior bisector of an angle of a triangle bisects its opposite side, then the triangle is
1) Right Angle triangle 2) Equilateral triangle

3) Scalene triangle v 4) Isosceles triangle

u@& - 2/ PART - II :

@y gCEayd LSS alamsaenae v (v el wellssab. (s L_rw efam 28)

Note: Answer any 10 questions. Question No.28 is compulsory. (10x2=20)
15. x+2 x>1
f sret1m snrunengy f(x) = { 2 : —1<x<1
- x-1 -3<x<-1
eT6m susmmumssULLC_Lneo f(3) Qe wdiy snems.
Xx+2 x>1
If the function f is defined by f(x) = { 2 ; —1<x<1
x-1 -3 <x<-1

16.

17.

18.

19.

20,

21.

Find the value of f(3)
f: N — N erstrp sniuneng) f(x)=3x+2, X € N erew suemmw mussiug_ ey 29 wHmID 53-ulles

(P61 2_(HESHENEE SN6TIS.
Let f be a function f : N — N be defined byf(x)=3x+2, x ¢ N Find the pre-images of 29, 53.

ppussd 7 werlls@ 100wenfl CrrsHn@L 9@ Cnirw steme?
What is the time 100 hours after 7am? SEES

16, 11, 6, Ny, 61601 Fnl_ (B S O FrL_Teuflensufso —54 sT6BTLY 5 . .
Which term of an A.P. 16, 11, 6, 1,...... is —54? 8l 15 Bememuneug) o miliy?

256(x-a)® (x-b)* (x—c)18 (x-d)? eretrm Canemeuudesr QUTSHEEPEVLD &N evsTss,
Find the square root of the following expression 256(x-a)? (x-b)* (x~c)1® (x-d)2°

9
=5
7.
X+2z

X+Yy+2 9
Find the values of x, y and z from the following equation ’ [g] _

y +z
Sanagev CHODEDE 61(PBIG.
State the Pythagoras theorerm,

X+y+2

X +2
X, Y wHmih Z-ullew wHiemus snerms {y .
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22.  simAgusten LLib AABC-ev,
SLB @ AN_L_Geng
QEICEIAET PO
UL Fengé &mna
DO ST 611 &)
stesflen, BC-ullen Bensemsé anetms.
In Figure AABC is circumscribing a ci
Find the length of BC. RRienges

23.  Uemaumd snieymenané Qaneim GiéGan@aafisn sniag Ganswrb eemen? (i) 0 (if) 1
What is the inclination of a line whose slopeis. ()0 (i)1

24.  Ax+3y+12=0 s1etm CrtaCan® oyw oeaseMe ghLESEID o OSSO smans Hews.

- Find the intercepts made by th%‘bfolﬁ)lwing line o%e(tahgeﬂcoordinategé?es 4x+3y+12=0.

25 seondelmnael S VLD 758 2 wrsded upsdnsl. @m B Qenert( SHanedawnnss
gevqullss @ Liseflullsd Li_Lib s1_L i Blemen ). Bre SeorwLe SHUSSID Fniaié
Ganevorid 600 s1euflen, mreSlen Benib anevors.
(mrenev @m CrisGanns a1(D 5516 Qansteraylb). —
A Kite is flying at a height of 75m above the ground. The string attached to the Kite is
temporarily tied to a point on the ground. The inclination of the string with the ground is
60°. Find the length of the string, assuming that there is no slack in the string.

28. &L o TRIGET QaTaIL @M snibseflen e gyeTaysen 36008.018.18 LHMID 50408.01..5
sieoflev, o wirruaefletr el srems.

The volumes of two cones of same base radius are 3600cm® and 5040cm?. Find the ratio
of heights. :

27. @m smeLwlgenrer 80 wEhser, 70 feuiy wHmb 50 CesTemeant wasefleSimBg F10
sumiiy pempulled e, u, Coin0sMmesILBID Curs 98 WEHsT eveg Aol BipL
weurs Q(mé&s Hewssa stemen? '

A flower is selected at random from a basket containing 80 yellow, 70 red and 50 white
flowers. Find the probability of selecting a yellow or red flower.

28. ® srellen S Lelevsan 12 g @W. HB60 eubleurm Ystaflenwujib 3 o160 euEGsEw

un g flen_& @ yHw srellen L elevasid wpmib 66068 euises sqreflenws sness.
If the standard deviation of a data is 12 and each value of the data is divided by 3, then
find the new variance and new standard deviation. :
. u@d - 3/ PART - III

&uy: aCsayd LSS elaméserss w BGw el weallssaub. (s L rw afsrr 42)

Note: Answer any 10 questions. Question No.42 is compulsory. (10x5=50)

29. A={xeW|x<2}, B={xeN|1<x<4} ipmitb C={3, 5} sterfl6v, AX(BAC)=(AXB)(AXC) sflinit 5.
Let A={xeW|x<2}, B={xeN|1<x<4} and C={3, 5}. Verify that Ax(B~C)=(AxB)~(AxC).

30. Qar@&sULLL 2 ma|seT eubleursTtennub
1) Sby&GN ULLb 2) euemyuL_Lb 3) U1 wed Wenmulley & Més
{(%, Yy = x+3, X, Y spflweweu @uwed sistmraet < 10} -

Represent the given relation by (a) an arrow diagram,  (b) a graph and

(c) a set in roster form, wherever possible {(x, y)ly = x+3, x, y are natural numbers <10}
31,  sa@D 60 snewws: 152 + 167+ 17° +.....+28? '

Find the sum of 152 + 162 + 172 +.....+282 ,

32. o® unevaryf_ib 1755\51&71_1} umb_ung}_ub 105 oSt e7(memLiLm gD e_eteng). Seupenm
ol s Qanateneneys GlametoL Poaumsurer swenseflsy SoL58 SpHs
A@mouiu@dpni. (i) @eaenn dpuspEs Comaiu@ib soassiler gHsul s
Qansteneney eteususney? (i) Deueunprs eissmen @evest LswUTE WM M
(i) e1(m emULITED EADEILIL 19 (HHED? ~
A milk man has 175 litres of cow’s mll_k and 105 litres of buffalow’s milk. He wishes to sell
the milk by filling the two types of milk in cans of equal capacity. Calculate the following
(i) Capacity of a can (ii) Number of cans of cow’s milk (iii) Number of cans of buffalow’s milk.

a3, CumhE 9088 Qgrememes Fyren CassAe sLsdpg). gygem Goumb 15818/

. ga(?ﬂ aqgg’n%auun;n_nsb. vwewest Grrw 30 HB_rusen @mmgmﬁﬁmﬂ& GumhSen
Causgenss seusdDs. . v
A bus covers a distance of 90km at a uniform speed. Had the speed been 15km/hour more
it would have taken 30 minutes less for the journey. Find the original speed of the bus.

34, 3x° + 3x2 + 3x + 3 wppuo 6x3 + 123 + 6x .+ 12 QA uEIDILYE Gansmeuaefleir

18.Q\un.61 HneToTS. i 3
Find the GCD of the polynomials 3x? + 3x* + 3x -+ 3 and 6x3 + 12X + 6x + 12,

35.  gm wsCanem s xO&CEIDaN @@ Uitell anfls Qeergib sens: an’His.
Show that in a triangle, the medians are concurrent. .
(10-mmﬂ£|b-3l
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36. OQgnenevey anrgpib &S5HTSms0 Lwstu®SSTe, (-2, —1), (4, 0), (3, 3) wHod (-3, 2)
s16uLI6uT R emesui sy SH 6t (eveuyeTaflen stens sl (D)5, ]
Without using distance formula, show that the points (-2, -1), (4, 0), (3, 3) and (-3, 2)
are vertices of a parallelogram.

sin A -sin’ B - :
37. tan?A-tan’B = os? A cos? B erenuen s HlemLilgsab.

| sin? A -sin?B
Prove that tanZ A — tan? B = cos? A cos’ B

38. 12Q&.8 guwerer @f yWBlaflws Carerbd 2 BHEsLULD 8QF.8 gyripsTer @i
2 (Hemenwns wIHPUUOEDGI. 2 Henemullest 2 WD &TeTs. ¥
An aluminium sphere of radius 12cm is melted to make a cylinder of radius 8cm. Find the
height of the cylinder. , 7
39. gt o menenlen Bg of QevLssetm_b Renewibseunn mwhs @ Yemedsn (funnel)
Qurss e wrn 2006.18. 2 menerulen e wrb 126Q&.5 wpob eI _Lb 12688 o @b.
BevLssct_gen CupLm eN_L1b 24015..8 sraflev, LemeSlen Qeusfllimls LMienus seamrsd(H\s.
A funnel consists of a frustum of a cone attached to a cylindrical portion 12cm long attached
at the bottom. If the total height be 20cm, diameter of the cylindrical portion be 12cm and
, the diameter of the top of the funnel be 24cm. Find the outer surface area of the funnel.
40. @@ umefl appieonelled GYEmsaET ST MsET uNEGMSDETs ClFees Clewus
Ogremawneng (peopGw 5, 10, 15, 20, 25, 30, 35, 40 g @W. Ul ellevss (PDEOW
vweu® &S euisen Cewig Csevalh@ SHiLalessd sreus. '
The amount that the children have spent for purchasing some eatables in one day trip of
a school are 5, 10, 15, 20, 25, 30, 35, 40. Using step deviation method, find the standard
deviation of the amount they have spent. : ’
41. @ euule 5 Aaly Hplubgsepn, 6 Castener HPUUBESEHL, 7 LF®E
BpLiumkgisEn, 8 smuy BPUUBSISEHD 2 aTerer. swamily werpuled suulled ks
em ubgl a@sasLLOADE. BsL ubgl (i) Ceustaner (i) smUY 008 Hauliy
(iii) Qeusnemenwns Beveonwed (ivV) GeusTemeTwrsa|b, &@HUUTSAD S6V6ON D6
Bmuuspsenen flapssasmems sneus. ' '
A bag contains 5 red balls, 6 white balls, 7 green balls, 8 black balls. One ball is drawn at
- random from the bag. Find the probability that the ball drawn is :
(i) white (i) black or red (iii) not where (iv) neither white nor black
42. mrpsyp ABCD-wler (penswrsen A(-3, -8), B(6, —6), C(4, 2), D(-8, 2) g,&1b sterfled oz 6t
Uiy &Tes. :
If a quadrilateral ABCD with vertices A(-3, -8), B(6, —6), C(4, 2), D(-8, 2), then find the
area of that quadrilateral. ,
. ugd - 4/ PART - IV .
eBuy: s s elenssesssw ala weallssab. (2x8=16)
Note: Answer the following all questions. , 7
43. o) Qar@ssiulL p&Canewid PQR-6a1 955 ués&ré;&aﬂs%t aflg 3 etemmpeun mi

agQeaung s (paCanembd auenrs. (jemey srrewfl 37 > 1) - (VvE)
o) 40818 gyrpsnen euLL_LD uEmys. sm;l'_,é)g_ﬂsin IB.Q]d'I-Sﬂ L etstrp yermerfl eufluns wrpm
oL g giem® Cappsamsls LwstuBGsE L 58D& S QgnGGan® auens.
a) Construct a triangle similar to a given triangle PQR wit7h its sides equal to 3~ of the
corresponding sides of the triangle PQR (scale factor 37 > 1). (OR)

b) Draw a circle of radius 4cm. At a point: L on it draw a tangent to the circle using the
alternate segement. :

1 5 e 3
44, o)) y=7 X esoip Crflw FwsTum g6 / s euenruL LD euemrs. efllgsw wresenw

SIELWIELD S0, SISO euTUL.SFIL 601 sflLniss. Cuogib,

(1) x=9 eraxflev y gpés BnevwTs. (i) y=27.5 e1aflev X gp& snevors. (0Vg/)

&) Y=X2+3x-4-ull6ir euemTuL b eUETHSI, SISO LWETLBSH X2+3x-4=0 srétrp

swenLNL_enL & Si&seayb. )
‘ 1
a) Graph the following linear function y= 3 x. Identify the constant of variation and verify
it with the graph. Also (i) find y when x=9 (ii) find x when y = 7.5, (OR)

b) Draw the graph of y=x?+3x-4 and hence use it to solve x*+3x-4=0, :

! : 10-a&emflgio—4
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